Subject: Re: oplot
Posted by Michael Werger on Mon, 15 Nov 1999 08:00:00 GMT

View Forum Message <> Reply to Message

"R.Bauer" wrote:

Who knows more about this error?

It happens only using Z-Buffer. If | am using my screen no error
happens.

% OPLOT: No valid points, must have at least 2 distinct points

| tried on IBM AIX and WIN NT

Later on I'll post a small example.
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R.Bauer

THis is the usual error when you supply only a scalar to plot
or oplot as argument, regardless if this is the first or second
arg..

But let's see your example.
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